Ajusta las siquientes reacciones quimicas:

MnO,+ HCI — Cl;+ MnCl;+ HO

C+ AlLO; - AlLCz+ CO

CO, + Ca(OH); — Ca(HCOs3);

H,S + 0; — SO, + H,O

CHy + 0, - COz+ H,0

HgO — Hgg+ Oz

CH30H () + O — CO, (g) + H,0 (1)

Na(s)+ H,O(1) — Hx(g)+ NaOH (ac)

Cu(s) + AgNO3 (ac) —  Ag(s) + Cu(NO3),

HNO3 (ac) + KOH (ac) — KNO;3 (ac) + HyO(l)

SiO,(s)+ CaO(s) —  CaSiO3

AgNOQO; (ac) + K2oCrOy4 (ac) — AgCrO4(s)+  KNO;3 (ac)
C@E) + Oa(r) — CO2(9)

HgO(s) — Hg(s) +  02(9)

Mg (s) + H,SO,4 (ac) — MgSO, (ac) + H (9)

BaCl, (ac) + NazPO4 (ac) — Baz(POy), (s) + NaCl (ac)
NHs (g) + H,S04 (ac) — (NH4)2S0: (S)

CuCOs;(s)—>  CuO(s)+  CO,(g)

Kl (ac) + Cl(gy — KCl(ac) + I (ac)

K,CrOy (ac) + Pb(NO3),; (ac) — PbCrOy4 (s)+ KNOj3 (ac)
NaOH (ac) + HCI (ac) — NaCl (ac) + H20 (1)
H,CO3 (ac) — CO2(g) + H,0 (1)

NaCOj (ac)+  HCl (ac) — NaCl (ac)+ CO (g)+ H.0 (I)

NaCl (ac)+ H,0 —  NaOH (ac)+ Cl2 (g)+ Hz (9)



